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(2x+a)?=4x> +bx+9 4 W, ab & F27 (T

D 12 ® 24 3 30 @ 36



2. (2a—-b)(2a+b) - (a+3b)(a—3b) = pa® + gb® oA A% p, g © &
p+q o A2?

@D 3 ® 4 B 9 @ 11 B 12



3. (x+3)(x-2)+ (x=3)(x+5) & o] 5}H?

D x2+3x-21 @ x2+6x-15 ® 2x2+3x-15

@ 2x2 4+ 3x-21 ® 2x2 1L 6x-6



4. 2(x+3)2+(x+2)Bx+1) =ax®> +bx+c¥g ), %

g a, b, c O
a+b+c o g7

D 11 @ 929 3 33 @ 44 ® 55
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102 x 98 & At o, HA1 348 o8t
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@ (a+b)? = d®+ 2ab + b?
@ (a-b)? =a®-2ab + b?
® (a+b)(a-b)=a® b’
@ (x+a)(x+b) = x>+ (a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd



T. x+ty=4, xy=-2L 0, x%+y? 9] g2?

@D 5 @ 10 ® 15 @ 20 B 25



8. axb=(a+b)?02 HOAT W], 2xx (—y) + x * 2y E 7rH5| 5}FA??

D 2x2 +2y? @ 3x% +3y? B 4x2 + 4y?

@ 5x2 + 5y? ® 6x2 + 6y?
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D -2 ® -1 3 0 @ 1




